N of reco track vs dxy(PV)

Ratio

—25201510 -5 O 5 10152025
track dxy(PV) (cm)

| N of associated (recoToSim) tracks vs dxy(PV)

&, s[ IS r
s 10°F = L.
o F 5 10°F
= f s F
“1045__ = F
E 10°
10°F b
E 10%F-
10°F E
F 10
10F
k- -
g g ¥
ol H I
x : & ogf-
i
; ikl oo
~25-20-1 5 10 15 20 25 —25=20-15-10 5 0 5 10 15 20 25

__track dxy(PV) (cm) track dxy(PV) (cm)

N of associated (recoToSim) looper tracks vs dxy(PV)

duplicate tracks

Ratio

B =56-15-10 =5 0 5 10 15 20 25
track dxy(PV) (cm)

—_—

N of reco track vs  ———— D

Gl
M~V0001~R000000001—G

DOV VUUUT KUOUUUOUUL
éMWOOOlW?OOOOOOOOl G

CMsSWI000Time _RECO
al__mkFitNewOLD1000time RECO
al—_mkFitNewALL1000time —RECO

Ratio

-1 08—06—04—02 0 02 0406 8
track dxy(PV) (cm

N of reco track vs dz(PV)

=30 -20 -10 0 10 20 30
track dz(PV) (cm)

N of reco track vs dz(PV)

0.
track dz(PV) (cm)

true tracks
=
om
fake tracks

=
Q
=

Ratio

-1 08—06—04—02 0 020406 0?8 1
track dxy(PV) (cm)

-1-0.8-0.6-0.40.2 0 0.20.4 0.6
track dxy(PV) (cm)

N of associated (recoToSim) tracks vs dz(PV) |

true tracks
fake tracks

Ratio
Ratio

HH vl

=30 -20 -10 20 30
track dz(PV) (cm)

=30 -20 -10 0 10 20 30
track dz(PV) (cm)

N of associated (recoToSim) tracks vs dz(PV) |

true tracks
fake tracks

Ratio

g

track dz(PV) (cm)

0 0.5 1
track dz(PV) (cm)

duplicate tracks

Ratio

O 350560402 0 02040608

track dxy(PV) (cm)

N of associated (recoToSim) looper tracks vs dz(PV) |

10°E

duplicate tracks

!

Ratio

0.9F--
0.8F--

0—7.30 -20 -10 0 10 20 30
track dz(PV) (cm)

N of associated (recoToSim) looper tracks vs dz(PV) |

duplicate tracks

10

Ratio

i

0 0.5 1
track dz(PV) (cm)




	Contents
	Page 1


